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There were 5 timid ghosts in the haunted house and one flew into the forest, now there are  _______.   

5-1=_____ 
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There were 4 timid ghosts in the haunted house and one flew into the forest, now there are  _______.   

4-1=_____ 
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There were 3 timid ghosts in the haunted house and one flew into the forest, now there are  _______.   

3-1=_____ 
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There were 2 timid ghosts in the haunted house and one flew into the forest, now there are  _______.   

2-1=_____ 
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There was 1 timid ghost in the haunted house and one flew into the forest, now there are  _______.   

1-1=_____ 

 

“BOO!” said the ghosts and scared the witch away!  The ghosts went back to the 

haunted house and lived happily ever after. 


